L i St # @ e i S
4 o fern S R ¢
(A) TR TG
(B) T B
(C) WIEFAT Igag
(D) o g

“Godan” is the novel written by which of

~ the following famous author ?
' (A) Jaishankar Prasad
(B) Suryakant Tripathi
(C) Makhanlal Chaturvedi
(D) Munshi Premchand

2. ﬁw%mﬁé-mmmmaaﬁa

TR qEPR B 2 ) .
(4). AT (B) UM -
(© wafegn (D) LCE i

civilian award of India 7
(A) Bharat Ratna .
(B) Padma Bhushan .
©) Padma Vibhushan
(Dy PadmaShri A
Pt & & e R S
cegifayerr Fearer 36 B FE S R ?
(& 153 (B) 26 S
(C) 267TaH (D) 30 fegs
Which of the
celebrated  as
.(Samyidhan Divas)” inIndia?

(A) 15" August (B) 26" January
(C)y 26" November (D). 30" December
4. b @ Fra e o
S U :
(4 =&
(C) YT

B) T
(D) T

Acid” ?
“(B) Vinegar
(D) Tamarind

& S
7 % VLN Va NS i WS T PR

Which of the following is the ‘highest<_ .
& @ #

following days is |
- “Constitution . Day

)

Which of the following contains “La_ctic

@) T et

R G VY M—

T e 7 ayi
@ s @ w [

(C) Rm@wew (py ToR

“Gydi Padva” is a spring-time festival of
which of the following States ?

(A) Uttarakhand

(B) Maharashtra
(C) Himachal Pradesh

(D) Gujarat :
B o L 1 el
ﬁm%fﬁgﬂﬁ@r{%ﬁaﬁmmm% ?
(A) @ i STl Tl A
- (B) A AR |
() & I SE T
(D) EEAEE
The responsibility of conducting the
decadal census rests on which of the
following ministries 7 :
(A) Ministry of Housing. -and Urban
 Affairs ‘ S _
. (B)' Ministry of Planning
Broadcasting - .

. (D)'l Ministr_y ofAHome Affairs

B R e e L B S

oo 4 e R 2 7

(A) TR B) I

@ ®) FE
The headquarters of the National Human
Rights Commission is situated at which
of the fol!owing ? C
(A) Bengaluru (B) Mumbai
(C) NewDelhi (D) Mysuru

B A T ) R o S R
e e T R 7

Whit is the helpling number to register
~ complaint for Cyber Crime ?

@) Ioro T (@) 1920

© 1930 ') 1940

and

Vel 0N P

IV PONPIVTATI VR AN s,
(o4 TS
m“m‘?“?‘ﬁmxamwu:awamwﬁ"‘ u
ey

2

Ministry of Information and

9
N

"
!

¥

e
A
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10.

11.

12.

AN PSS CSTR TN pSTLNTIT AP

G F i ET TR 7

(D) Maharashtra

IR W '
(& Hﬁgﬁ?mw%?
B) mm,mm

(C)  Han, =i,

(D) ¥, e, ;"ﬁl?" ‘
Wh?t is the tagline of Uttar Pradesh
Police ? '

(A) Satyamev Jayate

(B) Suraksha Aapki, Sankalp Hamara
(C) .Seva, Veerta, Bandhuta

(D) - Seva, Suraksha, Shanti

T 3 Freferfaa # & o foret 7 @ @ 7
(A) IeHISt (B) <UrEd

(C) Hrara (D) =l
Aryabhatta  Research Institute  of
Observational Sciences is located in
which - of ‘the following districts of
Uttarakhand state 7 . "
(A) Almora ~  (B) Champawat
(C) Nainital . . (D) Chamoli

(a) TIAEID
(B) ﬂaﬁnmzéz‘}
© T

(D) T ATh 15..

What is the full form of G207?

(4) Group of Twenty -

(B) Gathering of Twenty.

(C) Grand Twenty

(D) Glory of Twenty

RA HT q98 TSI s T SAfvreor
FTF “aATRIH BT fr=fafaa @

@fﬁam«-ﬁmmgg&mwm? g

() ST

(D) #EWg
India’s largest inter-departmental
convergence program “Operation Kayakalp”
was launched by the Government of
which of the following states ?

(A) Himachal Pradesh

(B) Uttar Pradesh

(C) Gujarat

‘PSTLANTTTR BN WWZA OF V' AN EOWIEN TR P 00N POVEN

14.

13. 3 g e o orere et v

Frefefan & & fras g st fom
RIEIR 1

(A) HeTht T B

(B) ). trre wfufy

(C) ww afufa

(D) Etafufa

The idea of a nationwide GST in India
was first proposed by which of the
following ?

(A) The Kelkar Task Force

(B) C.Rangarajan Committee

(C) . Basel Committee

(D) Rekhi Committee

T & Prefed 3 & #9 a ol <
T 35 | vify S AT T w8 ?
(A) HMR (B) Ut

(C) ¥HeH @) T

Which of the following neighbouring
countries of India does not share land
boundaries with India ?

(A) Myanmar (B) Nepal

(C) Bhutan (D) Maldives
iy o & frefaRed § @ e @
H TIETH 8 7

(A) TS ®) =

(C) A (D) STt

“Tokyo” is the capital of which of the
following countries of Asia ?

(A) Thailand (B) China
(&> Japan (D) Bali

wqw TS IR ¥ Rm wis Sfem
Fteten 3 & o 78 a0t P P
T AT 7

) Ee (B) WY

(©) (D) IHW

The Grand Canyon located in

: th i
Sta'tes of America was carvede clwﬁzltgd
which of the following rivers ? 7
(A) Hudson (B) Colorado
(C) Columbia (D) Yukon

; o . T\t -
TEVR BN PO N TV N oWty DN LA DOVR AON P RTLA TS v Y
AN Py LY oY L
NP
VISt YR
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17.

18.

19.

- 20.

e Prerfa 3 & e et € 7

(A) AE 9K . (B) mm
) fewemrr (D) T ) @

The Narmada ‘falls in whi_ch of the

following ?

(A) The Arabian Sea

(B) The Pacific Ocean

(C) The Indian Ocean

(D) The Bay of Bengal

7 it 3 A W T A F F
fost 31 51 O R & i fedy w9 @
sidwtEEl

@) W (B) FF

(C) =it (D) Wer
Name .the songs which celebrate the
divine love of Radha and Krishna and

especially popular ip Braj. :
'(B) Charkula

(A) Khayal

(C) Kajri (@ Rasiya

3@ HaTer 1 frefafed 4 @ faet e
FQ I framl H gl & fw edre-
oAt (Paat-Mitro) AP A HI R 7
(A) R (&) (B) FMH

©€) wH & O) iz

Ministry of Textiles has launched
“Paat-Mitro” application to  facilitate
farmers producing which of the following ?

(A) Jute ~ (B) Cotton_~

(C) Silk (D) Wool
“grrehr FrfeRaa & @ e va i w=@
SIEAFC TSIk Bl

(a) faEr (B) uf¥am s me
() fufeem (D) 3ffsm

“Thangka” is the most popular art form
of which of the following states ?

(A) Bjhar (B) = West Bengal
(C) Sikkim Odisha

21.

22.

23.

24,

‘De

frafofaa & & R afaum & w3 18

& fopamil (afdr) w1 fewmea fomam e st @
BRI

(A) #ft FeeTTa 9|

(B). *ft 3w fagrlt T TS

(C) *ft &g

(D) s T

Who among the following had designed
the borders of every page of the
Constitution and adorned 1t with art

ieces ?
A) Shri Nand Lal Bose .
B) Shri Prem Behari Narain Raizada

C) Shri Sayed Haider Raza
D) Shri Jamini Roy

(A) ¥ -
T D W
© statue( o% Tamil poet and

tly, the
o (R Thiruvalluvar has been

hilosopher 2
gnileileg at which of the following

countries of the world ?

(A) France (B) Brazil
(D) Switzerland

Who among the following was the Prime

Minister of India at the time of

onetisation of 2016 ? '
Shri Narendra Modi

(B)  Shri Manmohan Singh

(C) Shri Atal Bihari Vajpayee

(D) Shri L.K. Advani

TTEd! T, T A & frefelaa & @
ﬁ»—am?ﬁg?mﬂ?
HESTS
I

(A) TN (B)
(C) < fgda (D)

Prabhavati Gupta was the daughter of
which of the following rulers of the
Gupta Empire ?

(A) Kumargupta

(B) Samudragupta

(C) Chandragupta II

(D) Skandagupta
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25.

26.

mﬂr@wa@ﬁ?aﬁﬁﬂﬁf@ﬁﬁﬁ
%Hm%amaﬁaméwﬁﬁmd
ﬁxgwmmmaﬂ'{aﬁ‘w'
M ? .
(A SHferETeTe ST TEER -

(B) @ A @ W gE W
(C) st i fars
(D) AT A EGHT

had .renounce.d' his

Y% events of Indian Nationa

-

27.

SONPRLN (VR O PRILNTI 0
2 ¥ : 5
K S PRTLNTAT R FTN OLA TEV S i
) FR MNP TSy
R 0O PIWT,

' Rabindranath Tagore
~ “Knighthood” (

_(C) Partition of Bengal

ta‘iaqefa:a@ﬂﬁmﬁﬁiﬁéaaﬁtm
aﬁﬁ,ﬁmﬁr@aﬁﬁwmﬁ%?
(A) FTIeHTES YT -
(B) grsfire arefeTaed
(C) e RN

(D) fafim refoaeT

An economy in which there is both the
private sector and the Government, 1s

known as which of the following ?
(A) Outcrossed Economy

(B) Hybrid Economy

©) Merged Economy

(D) Mixed Economy

and expressed his pain:
ich of the following
1 Movement ?
The Jallianwala Bagh Massacre -
(B) A baton charge of police on Lala
Lajpat Rai ' A

and anger after wh

(D) Komagata Maru Incident

el ey Frerforaa 3 & Fored waifa € 7
(A) 9T AT EE

(B) I I

(C) Te-UIeH I

(D) FEX

“Blue Revolution” is related to which of
the following ? s noe

(A) Cotton Production -

(B) Dairy Production
(C) Fisheries Production

29.

30.

31.

(D‘}‘ Water Pollution

(€) FIR

| WW%&—@W ﬁqia R w5
(A) T T (Vo S &
(B) %?ﬁFﬁ?;{(DigiLock;r)Helplmc)

(C) 3 (UMA
NG)

D .

Michﬁﬁﬁ $1$4T (PMO India)

st e following application aims at
rog'de'l mpowerment” of citizen’s b
goc‘t/llm g:lgts access to authentic digita)l,
EVaHet? to citizens digital document
A) Voter Helpli igi

pline w)/ DigiLocker

(€) UMANG (D) PMO India
gg & H, I 7w % feferfea & & frd
et § g qui-arferset @k wher T
IguTe frar T g 7

(A) =g (B) @GS
(C) T

(D) *H%;T
Recently, first all-girls Sainik School has

been inaugurated at which of the
following district in Uttar Pradesh ?

A) Mathura -

(4 Matra - e
Aﬁﬂ%‘f}@ﬁﬁﬁﬁ%r%ﬁRuPayﬁzﬁﬂ
T 1 Vgl BN $hiee HIS Tl (a1 & 7

©(A) - HTEHIATIEIATS S

(B) e B2 3% (qEad)

(D) ISHEE IS '
Which of the following banks has
launiched India’s first Corporate Credit

Card on RuPay network ?

_(A), ICICIBank

State Bank of India (SBI)

(C) Canara Bank

(D) IndusInd Bank '

ﬁmﬁfﬁaﬁﬁéﬁqmm%ﬁ%@%_

s 3 7

(A) TS 2T

(B) @ et JETET 2T
(C) T RE e

(D) T [ SRR
Who among the following was the
founder of Tata Steel Limited ?

(A) Sir Nowroji Tata 3

(B) Sir Jamsetji Nusserwanji Tata

(C) Sir Dorabji Tata

(D) Sir Naval Tata

TSV AN PEOWEATEYR G0 PACEA TS PONPICLA TV OV
DH-1
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32 Wmmﬁﬁm, 2006 % 3
HEHSH 1 3
?) g =
A) w (B) @
€)= D) =w

The State governme
many “Collector” (n

or additiona
Pradesh R

(A) One
©) ‘Three

33. SOAm 3§

nt shall appo

€venue Code, 2006

(B) Two
(D) Four

34. Wﬁm%mm‘m
qErst

after the Indepen
(A) Shri Gobj

dence of India ?
nd Ballabh Pant

(BY" Shri Kalyan Singh
(©) Shri Yogi Adityanath
(D) ShriND. Tiwari

Teu § J5-
%&:’wﬁmm(Bﬂs)%?
(&) WY B) e !
(C) IWrEe (D) <1 3R i
Yaya Tso’

Heritage Site

35, wa@rm%ﬁwﬁrﬁﬁﬁ%m
TSy /Shgmfer i R

(BHS) situated in

the following States/UTs of Indi
(A) Himachal Pradesh

- (B) Ladakh
(C) Uttarakhand

ot including assistant
1 collectors) as per The Uttar
?

the State of Uttar Pradesh

is the first Biodiversity

int how

37

which of
a?

38.

Which  of the following i a
comprehensive and visionary init
that aims to €mpower women for g
security and self:
Uttar Pradesh ?

(A) Mission Shakti
(B) Mission Vanita
(C) Mission Sunita

iative
afety,
reliance in the State of

- (D) Mission Vaminj

mmﬁmmﬁqﬁ%aﬁ%%a
T Y HH 7 e 8

(A) e B) fuwr

(C) 3IurgE (D) =i

The state border of Uttar Pradesh does
not touch to the b

order of which of the
following states ?
%4 Telangana

(B) Bihar

(©) Uttarakhang (D) Haryana
ﬁmwﬁm%ﬁam%ﬁ

| ﬁ‘é%q‘lﬁa’i@wﬁ@m%?
(&) Sfnter spwen

(B)  semee spwen 2
(C) etk spgen v

(D) o sfwa
The highest Peak in southern India is
Anamudi that is Situated in which of the

(A) Velikonda Range

(B) Balaghat Range
(© Nilgiri Range
(D) Vindhya Range

|
|
|
!
- following mountain ranges ? |
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40.

41.

42.

43.

44.

l s
EE‘:E (D) R A &3 WA @I AT & |
45. %ﬁﬁﬁéﬁnﬁqﬁﬁaﬁqmﬁmm
4 ? -

46.

47.

Feferfed & & 95 a1y e 2 2

(A) - (B) I
(€) (D) 3y
frferfed & @ =1 91 g qem 2
A) T= (B) Hw
(C) graet (D) i

frefofea & @ =fe = %

g fmea i € 7 e

(A) %?W

(B) RCUERT

(C) W, ST

(D) =, J5E™

fFrafafen & & e ariv & R fay

wwggrgnzﬁ? |

(A) EISIBIC RGN El

(B) gﬁaqaqwﬁ-amﬁw

(C) <98 7 §oT & - BHER

(D) 3T | 37 T -
frmds wse-gm fafr ek
> o7 3fera el @ |

Hife ;

(A) - hIeTea 3 T3 g e |

(C) Thar I AT TS W Tg
£ el

(A) W_;%__,T B) wfr- sfEm

(C) =m- (D) @1 - gfem
T e HT TEA HIT G 7
(A) g B) =g
©) g (D) =YY

¥ a2 1 At & 1 Ywifea weg §
I AT HRH 3 7
(A) JUCH®RH (B) T FHH

48.

49,

30,

S1.

52,

33,

34.

55.

(C) FWHAH (D) HICH FRF -

(A) - - 3z 3

(B) amamm?’"'
(€) TR - 73 3 o e
(D) qm-:ﬁwﬁw

) wETRE ©) v

©) #wHfE (D) s g
SRR 2 & 2 s 7
(A) @S g

(B) @I fdwyr

(C) TuraTa s

(D) uRHTvTETE fashyor

= o @ g frr =1 sgEw o @
g7 |

(A) THHRISEN AR |

(B) T Raei wik |

(C) WBHAWR |

(D) HPIRIRG R

AN PN T

: ool TIOVA ARNPPTEA PR 6V @
CONPICLIN CIVR PO PBFLATE VR PONPETLHNTRCF K OB UL TE VK GO PONTHTN PR (BN POVENCEFR 0100 PRTLNTS PR AN POTE TR RN PATLATIVA DH 1
4 " -

7



56, Ty

ﬁ‘?@ N Y e T
; Tt I ' (M. 9. 65 69)
Eg)) . BELIEE ! mﬁ%& gwmmﬁm%m
(©) T T | ’sra&mmmwﬁ%
(D) Wiy ey maﬁ;%mwéﬁmm
57, ‘m%mmm'mﬁ?ﬁwmam H, THTE T | 37T
q7 | ﬁwﬁmwﬁm%mmm%m
A) Frary (B) H»T{Em mwmm%mﬁ-&ﬁﬁﬁmg-
©)  rary (D) ¥ & $d ﬁmemﬁmvh\ﬁmm%,azm;
¢ : Frerfrfan R ? mamrmﬁmmsﬁaq-z;ﬁ
S8. HE
ﬁﬁﬁ“w%q;? St QLSS - Biaest U 7
(A) S§AT@ B (B) w72 sy mmﬁamwﬁmﬁw
S (C) %mwﬁmm) S STy @mwlmmﬁﬁ@mm%
59, ¢ ' : iy W&Wmmm%ﬁ\ﬁm%ﬁmmm
(A) @%ﬁﬁq“ﬁﬁm B H a2 5 R R 3 g
©) e D) sy WIR 3t aﬁrq&mﬁwﬁm
o B X &l a@%lmﬁ&mmﬁw
Ry L ﬁ‘*ﬁﬁﬁwﬁ @g\;ww*mw SIS e Fafor a1 8, fiy
®) Sehwpich Al eI 1 SR ¥y i |
(C) qa;anmﬁaﬁm 7 ck)/’ma?tmm
(D)"m?h% {aiﬁqam N (B) s
61. aﬁamwwmw%-? et PN (©) HRICH TR 3 319t fiyare
LS R(A) (B) - iy J i _(D)_.aq':ggaaﬁaqanm + e
(C) s _ ‘(D)-.% S il 661 -‘mjwmmm%? E‘k
62, Rrewma smom o § I B2 R o A T ®B) g
RN amm -a%“(B)'Wj . O fom D) e
O o (D) e :_677,'F'Eﬁm7ﬁ%ﬁ$lmﬁﬂa?-3ﬁ?m-m
o kTR |
g ;%q-,?qmm;ﬁ;?%?ﬁ T, EE;I?I - (A): RIS e e N iy o
@Wﬁﬁqmm%? ‘ _ t{sa%%e‘n
(A) Y SR (p) ST R (B) RIS o few s w
(©) 7% %R (D) e srcime 3 & | 5
e | C) TR T o
‘64.1ﬁ%%aﬁﬁﬁ?mm,mﬁm i TEE Y |
"ﬁ:?ﬂﬁaa?ﬁ%?(m ok o5 TR it Raw 6 sne s )
(A) THR ‘ ; , )
) N ;




68.

69.

70.

71.

72,

13

74.

75.

76.

R ENNVRNLATEV AN PR T v oy
$EQN POVTA TR &0
R AN PSUTA TSV A 0
S CON POWTATIOFR CANPOUTA TS VA 00 -
‘ A TSP 2 =
. CF R SO0 I
A AN P SN T
VCSTR ST PFTLATSYA
AN PITNCSFR 50

9

TR S MR ) o o R 7
(A)  Toreft 1 oy

(B) T s v e

(O T T 39 Yo ey

(D) 99 T 3= @AY

.ﬁﬁsﬁwmma?

e
ig;* HH F H I HY
et Praferfen # & et wn g
(A) - ghEHer I (B) gfaiy
(©) Imeg (D) - Aftrefreror i
e — P § 3 Rrei -
(j;mtgr?dﬁaﬂf (B) WT% .
© FTWEW (D) g
ﬁawmwﬁmg‘é%?
Aa) T (B) sfve
© ¥ O s

‘ Www%t’wmﬁﬁwm
égm-ﬁs’m%? .
(A) HeEr= fra- gy

(B). THaT= fofan-frdryu

(C) viwHvTET= - fysigor

(D) {ferarares T fysmoy
ﬁwﬁwﬁgaﬁé‘qg’quahamm
HHEATTE R ?

(A) wime (B) Hetrm

(C) wygm (D) %= .
At Rmmeles vz Rer- a0 oy wd
e Freafefea F d s

(#) feo@ - apfc (B) it - R

- (© R-few D) few- e

uaﬁ.@.%m”w%mm

Y T wreg 1 B 7
&) wE @) s
©) T2F (D) 9r&Yd:

78.

9,

80.

81.

82.

F3 gt i 2
° Number of Pairs which have
15 as thej; HCF ang

138 as thejr LCM,
We can deﬁnitely say that

NO such pair exists.

only one sych pair exists,
only two such pairs exis.
many such pairs exist.

MRESIH 12 3., 3/4 % 1T 3
'Wﬁﬁﬁwﬁﬁ%mmﬁmmﬂ%:

If T 851 be divided into three parts,

proportional to 1/2 : 2/3 . 3/4, then the
first gart is :

(A) 296 (B) 222 (©) 333 (D) 396

@ﬂhﬁ%m%m-w%ﬁﬁﬁgﬁ
S 37 T RO Ay e 25% &
Tt Bt fen |ﬁﬂm§mzozs_ ®
TS | 77 3 e T I A et vy
Ak

10% of people died due to in
village and due to that 25% of remainin,
people left the village. The population ig
then reduced to 2025, Find total number of
people originally living in the village,

© 20 (5 009

cholera in 3

DH-1
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84,

8S.

86.

87.

: Y i X PN PEOUIA TV 00054 P L Cava
: X AN PPTINTI PR PEh ROUTHN CFVR 50
RON PEVTN TH VR CT POTLN TIPS

I ss.

(A) 66

33 e
HIRR |

By selling 33 metres

the selling price of |
ain percent,
(A)

0% (B) 259

of cloth, one

ains
1 metres, F in

the

A sum wag Put at simple inter
i € Interest at
Cgrtalrilgrate fort 3 years, l-?ad it been put a%
0 €r rate, it would
< 1{}20 more. Find the sum have feiched
EC;

% 7,500 83
P, Q 3R R woirss

37,000
% 2.000

8 5t o ¢ 34 ﬁa?ﬁ?mmaﬁ
,950
1 e R | R

invésting X 20,000. After S5 months, P

withdrew ¥ 5,000, Q withdrew 3 4,000
and R invested ¥ 6,000 more. At the end

of the year, a tota] profit of ¥ 34,950 was
recorded. Find the share of P.

(A) %10,600  (B) %10.250 |
(C) - % 14,100 (D) 10,800
11 IRomt =1 3fvaq
RO 7 3ftEa 51 R ok I o8 =
HIEd 59 R, A B3t afom 33 | |
The average of 11 results is 50. If the
average of first six results is 51 and that of
the last six is 59, then find the sixth result.
(B) 8 (C) 110 (D) 107
mﬁ%: 9 31 12 fedft & g a
THd § | AW F IR afe 3 aml-
Topam &t o g &t e ¢

-Diptesh and Tushar working separately

can do a piece of work in 9 and 12 days
respectively. If they work for a day
alternately, Diptesh bglgllr)mmg, 1;1 h?\'?,
many days, the work will be comp eted
(A) le (B) 41/4(C) 11 (D) 43/4

DH-1

50 B | 9 vget o

T g |

10

88. SIRED 14, 10, 6, 2, ..

89,

90.

91.

|
Find the 14t

14,10, 6,2,

,,,,,, S€quence
(A)

=38 (C) —42 (D) -4

PYSSTTRR S 1 3 gy o
W%'qﬁ@“ﬁwﬁﬁiﬁiﬁz

et 100 m2 3 33

mmaﬁﬁﬁw 33.18 R,  zqy
The base of triangular field is three times
its altitude. If the cost of cultivating the
field at ¥ 24.68 per 100 2 be ¥ 333,13
find its base. ’

(A) 30 m (B) 60 m(C) 90 m (D) 110 gy

e Feq 20%@/@@@%@%,@;3@
500 3 1 gt 1 1 3 et e vy 5

How many minutes does Vandan take ¢,
cover a distance of 500 m, if he runs at 5
speed of 20 km/hr ?

(A 1 B)125(0) 1.5 (D) 1.75

T. 6. 91395 ; @1 M 200]
ézoma‘ﬁmﬁ%‘qﬁm%@n%mﬁm
ST 6T TG 3R 36 FT Y Frrig
AT 1 ST ST 2

Q. Nos. 91 to 95 : The following line
graph gives the ratio of the amount of
imports by a company to the amount of

exports from that company over the
period from 2001 to 2007 -
- fm

6T A e ot g s sk
Frafa & wen = srem

Ratio of amount of Imports to Exports by a
o Company over the Years
12; T,

1 —gg—08 / \(1,9
0.5 "’\\O}/

1.6

B
2.

2001 2002 2003 2004 2005 2006 2007
¥/ Year

o5m o & Seft & Frafr 3 s § s
=T o 7

The imports  were  minimum
proportionateh to the exports of the
company in the year

P00 4 (B) 2003

| 200 (D) 2005

i !
(C) 2004
. AR ATy TAPELTA TN SN AR TP QAN PRGEA TYFR 00N POWI N Ty e
AP AT O TN
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9. UL a1 33 e o o ST 9 (97, Py o #, e

Ffere T ? Blwet ) gt &
In how many of the given years we Tt Thr garfan ik m"t
ven years were the Zatm 2, 4 5 HIET
exports more than the imports 7 a1 &, a1 39 sfaett afy it ) wo
@l ®2 ©3 ©a4 ARALLL
2§ S FT 3T N the given figure, if Triangle t
93, gfe 200 i T 260 Eb'ﬁg Dpctor. Square rcprcscntsgLarv:yp::s;';;
an,a’TZOOZ Ht %7 fafa ot . t%lt‘clc rcri)rcscnts Literate, then ‘what is
If the imports of the company in 2002 ¢ number of those Doctors and
were % 260 crores, the exports from the Lawyers who are Literate ?
company in 2002 were
(A) 360 0 / T 360 crores 3
2
‘(B) % 325 S / T 325 crores g L6135
(€) T310FUS / T 310 crores
D) % 275 ®UE / T 275 crores (A)3 (B)S ©6 (D)3
' 004 e 7T | fehe wferere <t s
94. 2003;‘?2 98. R+ %1 3f v R, o o i g,
FETE | . _ 1 I HeE R R~ iR @
What was the percentage Increase 1In ’
imports from 2003 to 2004 ? 18+6+7x5-2= 19
(A) 56 If *+’ stands for division, ‘+’ stands for
(B) 67 multiplication, ‘x’ stands for subtraction
(C) 82 _ . and ‘-’ stands for addition, then
(D) %am%/Data inadequate 18+6+7x5-2= 19

o5 uf 2004 F AT T 240 FE I A | (A) 16 (B)1S ()20 (D)2
9004 31 2005 F freeRt %o @ T 500 | © (D) 22
qT 7 99, wﬁ*eﬁﬁ%aq{m(x)ﬁm

A T, A 2005 T AT ,
(A) T200%08  (B) T 250 %S T B |
{W (C) % 20508 (D) ¥ 450 FT - Choose the correct mirror image of the
: If the imports in 2004 were ¥ 240 crores | given figure (X) from amongst the four
and the total exports in the years 2004 alternatives.

and 2005 together were ¥ 500 crores, .
then the imports in 2005 were [F’ (_LI U—‘ ‘—U gLI
(A) %200 crores (B) =¥ 250 crores (@) @ 0|0 V|0
(C) T 420crores (D) <450 crores _ ) O © 0 @&

96.. ﬁaﬁaﬁ@ﬂﬁsﬁaﬂg;@ﬁ%m @A I @ ©E O®
G FI G S WE A HAE R 100. Fr=ffed v o, w wee fon T R,

IR, gfeedl, 3, :
Choose the Venn diagram which best { < U, 3 7 fy
. . Yo SRS OESL L g yreg % J7&T ST SUANT & T8I«
explains relationship among given items : - 2 AR |
Animals, Vegetables, Potatoes A EIE 3 ) .
‘ In the following question, one word is

' iven, followed by four words, one of
(A) (B) OOO \gwhich cannot be foyrmed using the letters
‘ : . of the given word. Find that word.
: @ RECOMMENDATION
(©) (D) (A) MEDICINE (B) MEDIATE
O (C) MONITOR (D) COMMON

CANPITENTIFFQ PO T A" Ve 51505 3w LATSVR i :
P& PO\ ¢ 0 ¥ PIFINTOF v VLATNYR QAN POUITHNTOPR PCN POVTHTW PR DN PETLN YA AN POCTATIF P A0 PN TV OVAN PRULA CTFR 0N PAOIHNTOFR
DH-1
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101.

102.

&R T B TR & 17 37a 5 ¥ g
Eic] o

S T W T T R g 7
Which one set of letters when
sequentially placed at the 2aps in the
given letter series shall complete it 9
_CB_CA_BACB_CA_BAC D

(A) ADDBBB ~ (B) ADDDDB

(C) BDDDDB (D) BBBDDD

few T ot # ¥ 7 W fyweg o N
. - ﬁ w a : gﬁ

Choose the correct alternative from given
ones that will complete the series :
12, 23, 34, 45, 56, (7)

(A) 67 (B) 69 (C) 71 (D) 78
103. :W::W:(?)

(A) =% (B) 3t

(©) 3w (D) T

Melt : Liquid :: Freeze : (7)

(A) Ice (B) Oxygen

(C) Solid (D) Pressure -
104. DBMS : SMBD : : JAvA - )

gA) AVIA B) JAAV

C) AVAJ %D) AAV]
105. 71 Strpfer & ey ot 8

How many squares are there in the
: e ?

106.

following fi

(A) 12 B)13 (©)14 D) 16

T SR oA I w0 3R 10 et

w&aua%aﬁtm%,ﬁtaﬁasm%aﬁw

7 ferelt et 2, R0 & o e & ok 14 |

fopeft =rerer 8, o5t o1 o 2 afk 4 feef
Serdl & 3R 37 # o1 g 2 ok 4 ferft
W%lﬁgﬂﬁ&ﬁﬂt‘é%ﬁﬁ@m‘
27

A) 10 feh 11 feh

(B)
(C) 14T 17 et

(D)

A person starts from home and moves

towards west by 10 km, then turns right

-and moves by 7 km, again turns right and

DH-1

moves by 14 km, then turns left and

moves by 4 km and at last turns left and |

moves by 4 km. Hg?w far the person is
from home position ?

(A) 10km (B) 11km

(C) 14km (D) 17km

3 PIILHNTLPE PO\ POWL TIV R PEN POVENTIOV R CONPOVLNTEVE TON PIVTNTEF N
WEDLNTEVE AN o'
! RO PIULHN TV R

12

IV. & | 399 Iereeswar soi |
(A) e 1 3R 11 Horee § |

(B) mnaﬁtmm@a%l_

(C) et N Hefa@ 2 |
(D) %3 [V HeTed 2 |
Question given below consists of a
statement, followed by four arguments
numbered I, II, IIT and IV. You have to

~decide which of the argument(s) is/are

‘strong’ argument(s) and which 1s/are
‘weak’ argument(s) and accordingly
choose your answer from the alternatives
given below the question
Statement Should people with
educational qualification higher
" than the optimum requirements be
debarred from seeking jobs ?
Arguments ; o

L No. It will further aggravate the
problem of educated unemployment.

I Yes. It creates complexes among
employees and affects the work
adversely,

III.  No. This goes against the basic
rights of the individuals.

IV.  Yes. This will increase

. productivity.

(A) OnlyIandII are strong,

(B) Only II and III are strong. -

(C) Only Il is strong, v

(D) Only1Vis strong.

B =

e
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108. i fo® T T wh e off @b
T e 11 iR @ ot ot o 1 oae
T o
e A safifed 8/8 |
”_@q’f
T et # | ‘
gromd ; 1. ST ¥ S 39 TR BT
A Gl S
. II. : |
(A) mmlai%%agI |
(B) et G 11 3affed & |
(C) Frar 13 11 St 3 |
(D) Fat [T I 3afiea 8 |
In the question below a statement

followed by two assumptions numbered I
and 11 is given. You have to consider the
llowing assumptions

statement and the fo

and decide which of the assumption/s

is/are implicit in the statement.

Statement : “If you trouble me, I will slap
you.” - A mother warms her child.

Assumptions : . .
[  With the warning, the child may

stop troubling her.
II.  All children are basically naughty.

Only assumption I is implicit.
Only assumption II is implicit.
Either I or I is implicit.

(D) Neither I nor 11 is implicit.

¥. @ 109§ 113 : F7¢¥ : Prferfd TR 1
‘ F I

g TG I I :

i

-
2,
%
i
£
.
%

:

5. 3fg foret st &Y 2 of Y e
AL
6. HHIR foFT 907 & B8 W
T ot T 2 S o v &
7. Tt afgen wderd % ame , af 39 2
a8 B Ja1 @ o R, @ PR R %
w9 H, IR FEm H A § IE
IGh! IR AT A S qY A feA A 2 |
i Frit 1 RefiRed v v § afid
qmel W A 3R a9 w5 sdEd G
- |3fR/=1 PF % feg umar 8 A1 & |

Q. No.s. 1'09 to 113 : Diréctions : Read the
following information carefully and answer the

questions :
A company has following Gratuity (G) and

Provident Fund (PF) rules: ,
1. An employee must have completed one.
year’s service to be eligible for either G

or PF.

2. An employee resigning or terminated or
retiring after ten years’ service gets both

- GandPF. .
3. An employee terminated or retiring after
five years but before 10 years’ service
gets both G and PF, but that resigning

during this period gets either G or PF.
An employee terminated or retiring

4,
before 5 years’ service gets PF but not G;
but that resigning during this period gets
neither G nor PF. &

However, _

5. in case an employee dies after 2 years’

service, his family gets both G and PF.

|6.  in case an employee was on leave

without pay; such period is deducted

from his total years of service and then
above rules are applied.

7. in the case of a lady employee, if she has

completed 2 years’ service, two years are
added to her actual service before
applying the above rules, as a special
consideration.

- gE -

¥
3

%.
|
!
2
5

Apply the above rules to the cases described in
each of the following questions and decide

me%ﬁmmﬁmﬁaﬁ whether th is eligi
Ja1 G et 2 A @ PR frerar g | PF or oot e employee is eligible for G and/or

v Ve FATEF R o y :
LN CEVR PO PRTLATIF R AN PITLA TR A2 LA TIPS SO POTENTIF @ CON PEEN DI TR Ay PRI N TS P AEN| R P o
O PRI AEN POTEATIF K AN LT VR QAN PRITAH VA CAN PATEN TR
DH-1
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111.

(A)

FIT G & 1 ey
PFﬁTmeénl%

PF 3 & % w3 fay oy
PF M few s o |,

terminated from service

afy
(B) afe Faem
©) 3fg g

Tepar

I
(D) 3R} G 3tx
Mr. Ashok was
after ten years.

(A) ifonly G can be given,
(B) ifonly PF can be given,
(C) ifeither G or PF can be given.

(D) ifboth G and PF can _be given,

et smt § ot § 9w o9

1 3R AT 2 fory | -

(A) T HTAGETMEHd L | |

(B) 3l %=et PF R smaward|

(©) 3R G =1 PF # & 91§ @& R
ghar g | -

(D) afR G 3R PF 3 Ry EsA § |

Mrs. Verma served the

112,

113,

et e

T I HIA ¥

fore wma = e vy ey
IR fi7 o g

et AT oAt e

AP s Y |

(A) Wﬁ%ﬁaGamm%I

(B) ‘Tﬁ%ﬁHPFﬁmmmp

© “%?H’lGﬁmlmﬁ%aﬂnaPF
fen s awar |

D) =k G = pF ¥ 3

B T fe oy
THhar g |

if only G can be given.

if only PF can be given,

if neither G nor PF can be given.

if either G or PF can be given.

AR 2o ¥ et i v T B T |

e U % .3/2 9 % o, £l
SRR R A | arfReen, o

@) wﬁ%aac}amm%\
(B) e %t PF e w2

(C) H&GmPFﬁ%ﬁé@ﬁmm
ThATR |

D) ﬁ%GaﬂtPFﬁﬁwwﬁ\

Mrs. Deval worked at the company for

three years. However, during 3/2 years of
that time, she was on unpaid leave,
Eventually, she was terminated from the

e company for four job. e
years and resigned. , | (A) ifonly G canbe given. | i
v ALl ) ®) ifony PF cabo given ivhm- .
2 ff 'th};r G or PF can be given, (C) ifeither G or PF can be g. :
D) ifo be gi if both G and PF can be given. _
(D) if both G and PF can be given. ‘ (D) ift RS
PONPEULH [EFL OON PEILA TS VA QON PETLNT V& FES VIR TE FE AEHN LN TP Wwﬁwm CONPRTLNCEVS
DH-1
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114.

115.

CONPSTLHN TIVE CDNP

AT T giorm it & &g o 4 €5
T Afee § O Arenfepr A4 A A
qElitl % @y owe W Iefied A
mﬁl%%m’m:
(A) IR ) TR ware g AW B
TSRS AT =Y |
FET T1RT 3R Jurw
FT T1RT | EAd
(C) IR IEE 30 H IR T AH
F! FReR ST =iy |

e b A 9 | T A

(D)

) FetTE & =R |
You are stationed as a police officer; a
woman reports phone harassment of her
minor daughter’s intimate photos. As per

law, you should :
(A) Ignore the cas

the minor. '
(B) Caution the minor’s’
©)

(B)

e attributing fault to

file statutory charges.
Arrest the accused based on caller

ID traces. i )
Advise parents to counsel their
daughter. .

SR % €7 § T E;

RIS

| TS W TR A ST |

(@) Imem wfeel @ gog % e
SARIERT I ST AT S |

©) seee qansit & et fAets &

D)
! AT HET =AM |
You are stationed as a police officer;
social media monitoring reveals plans for
unauthorized political ~ rally violating
prohibitory orders. You should:
(A) Arrest organizers for subversive
social media posts.
(B) Engage organizers to explain order
restrictions.
(C) Request temporary suspension of
internet services.
(D) Deploy forces to firmly deny entry

points.

RFLATIFL SONPRTENTROF PO PAES TV

parents and;

116.

117

T BT | _
a4t & g e

).

am-yau 8§ Ry uqE % Ewf,

Hisrerren weTa AT, T % fero, IR -

(A) @iferd apzfEt £ dee difEn
FILDER]

@Wgﬂmﬁ'ﬁt@%mﬁ&u

©)
T AL HTT AR |
(D) afat-wnfie favamd bl fomfon +H
a7 % fer arai <l ST
cxcii) il
As station head in a riot-prone area, to
uphold communal harmony, you should :
(A) Monitor social media profile of
potential troublemakers. :
(B) Make preventive arrests to avoid
‘ breach of peace attempts.
(C) Impose prohibition orders on
dangerous weapons’ possession.
(D) Arrange talk for inter-faith
confidence building measures.

i % w9 § W T;

. 39 T gfeE :
: mg-mmmﬁw

E@%W,m:

(B) g USIIhoT 1 adl SHIE
ot ¥ AT 1 §ET I ST |

(©) Fd Fi P H =fen AR fa
e aie & faskdr 9% @Al b
fRrgaiwo T =T |

(D) @t FRga JieTsT WA Geed
3kt ¥y R wfeay oA =i |

You are stationed as a police officer; to

identify fake e-commerce website

scammers, you should : '

(A) Monitor online purchases of all
citizens in the region.

(B) Assemble ethical hacker teams to

trace site registrations.

(C) Hire hackers and analyze vendor
bank accounts without search
warrants.

(D) Ban .all unauthorized  online
shopping portals and apps.

PO PATENT VR COH POVEN T VR BN PSTHOS ¥ RN POTEN ROFE G PACT A TP R (RN PITEA TEVR 0N TN TR

DH-1
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118.

far 3tk & ; weh wfafia s
%ﬂg%mﬁmgm%m\%
T g ARG =S FHl 6 e amfiata
T P! T R 1 ST el R | 37T :
(A) TeA #fd R FH § I A
ST T B T A =i |
B) m%agnﬁmamam%
fore wfoerg g =i |
(C) wrEh w9 & RSk 1 =g 0% dig
mq@ﬁww%mﬁ%@m
T T IeTE &Y
R SAfRITA €9 Y IR ey

" You are an Investigating Officer; a

- (D)
119,

PN PI

DH-1

celebrated spiritual leader s i
in a sexual abuse scand
quashing - of legal complaints ~ filed
offering” blessings and funds for good
causes backed by you, Yoy should :
Partially “assist the leader in
limiting tria] damage.
(B) Commit to impartially nvestigating
as per procedure, L
(C) Promise inaction legally but aig
secretly in access to victim,
Personally conduct prosecution
Violating standard norms, o
AN Fgy & wme € Bl o)
I, 39y

mplicated
al and requests

ST 1 T e R |

When investigating online radicalization

cases, you should : o
Ct as undercover agent posting

inflammatory posts to attract

responses. : :

Obtain  court approval  for

psychometric analytics to be run on
such subjects. '

(C) Share ° concernin
~ snippets on  officia
ublic vigilance, :
se specialized forensic counsellor

insights for pattern analysis.

TNTEVR FON PRFITATIPL CON PRGN Ty G0N P,

(B)

unverified
channels for

(D)

:
5
-
i
:
-
£

?f
E
|

TATEFC CON POWENTT TR FONPOTIN TSV AN PIGENTAWY

i

(©) ﬁ%w&aﬁ:aﬁmmaﬁqaﬁz
D)

You are an inspector in a crime branch
unit that deals with organized crimes and
gangs. You have been working in thijs
unit for the past three years. However,
due to a policy change, you are
traxsferred to a women’s cell
have to deal with cases related to
women’s safety and e€mpowerment. You
feel that this is a less challenging and
rewarding work. You should: -

(A) Challenge the policy change and
argue ‘that your skills and
eXperience are better suited for the
crime branch unit,

(B)  Accept the policy change and use
your skills and experience to deal
with the cases in the women’s cell,

where you

©) Accept the policy change and try to

maintain  your contacts and
involvement in the crime branch unit.
Accept the policy change and lf)ok
for ways to get back to the crime
branch unit as soon as possible.

PR OO POWEA T ) NN LA TIVR AR PITEA TV AN POEN TV

(D)
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i) #) Wafiywdr @9 T W
121. q@wﬁ-agmmsﬁawmﬁmfiﬁh
ST 67 e 8 ST @ P e wsth
§§, BT 8 | 3TTqehY |

(C) UIRET STafyewar & e
T IR 9T S | e w

(D) THIfGH |

IEREREI

A national Security priority manhunt
enters climax when your Spouse meets a

serious accident requiring surgery. You

should :

(A) Delay informing family to avoid
distraction. o :

(B) Take brief leave deputing
operational coordination.

(C) Handover full charge to deputy for

family priority. Coe

(D) Strategically - allocate expertise

areas among wider team. '

122. T gfera srfteert & w9 A, o R d

ﬁ" o

RO PITLH

FETHETS Hiffe gom auet #i o
(A) wgwelt d=Tie aqgl W AT
B) AN B~ IR
P waﬁa‘r&mmw%qzlq |

(C) @ W IRl #hil 78 TR W f@id
© w0 o fore e AR v oy st

afl |
eI 3T B M A ge
JfqT-ariies W0 98 1 ITReA
T =T | ‘ :
As a police officer, m'moriti:cs. in your
district report experiencing religious hate
crimes. You should: .

(A) Online proﬁlf-: surveillance on
radical ideological groups.
Fast-track prosecutions announcing
exemplary sentences.

Implement district cyber patrolling
to mass report hate posts,

Organize inter-faith peace initiatives
involving community leaders.

(B)
©)
(D)

WENTIOVE 276N P

o STESNTIFR SN PO?
- EONVETL
rIVE

T T =fRw |

123.

h gfer arfumth %
rfirertiedt % faems %ﬂmg:;ﬁ%
IR A FrE T Iefram oy ST
%@ﬁ % | 37T :
(A) HHEE F G FQ Y At
Rrerrara afirfa &1 mem FHem =nfyw |
(B) w3 I W fom wremfierar whvam
Tigge AL HT MY |
(C) wuis yfHetaTt | anfer i} %
TTATARYT %1 AT HTAT 913w |
(D) vﬁmﬂum R F g0 amedt
- 9Te TSI Y weffa s i |
As a police officer, you notice workplace
sexual harassment complaints from
women  constables  against senior
officers. You should :
(A) Setup ' internal complaints
committee promising action.
(B) Implement mass gender sensitivity
training modules.
(C) Enforce transfers of implicated
- personnel from command roles.
(D) Refer cases to external agencies
ensuring confidentiality.

124. T gfere arftrrtt % w9 &, ¥ Pt

BT SRTTaRT 1 HA T See T 5

(A) I e S & fvad iR otk |

(B) eIl 1 o ¥ B % fore we
T o |

(C) iIeheiiieh HEATT hl FRET T |

(D) MRH W AW wiifs g H
el

As a police officer, I can best

demonstrate. patriotism by :

(A) Accepting bribes from law
breakers. -

(B) Using force to subdue protesters.

(C) Safeguarding democratic
institutions.

(D) Imposing my religious values on
citizens.

MZATHFX CONPECEH VR (PN POEN CIVR AN PTINTIPA CAN POETATFFE PO PRI THVR QUK PRI T FR 6N Py Ty e
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126.

i cer, you are required tg
Asda pglggﬁgg?: trai)rlxin'g and evaluatiop
:1;1 :;ﬁance your 'skills a_m? l_llmOWledge.
'Which of the following 18 the name of
the institution that provides training to :
the Indian Police Service Officers ?
(A) National Police Academy
(B) National Defence Ac.adcmy
(C) National Security Guard Academy
(D) National Forensic Science Academy

T gfer STt 3 w9 H, S ws e
| ﬁ%mﬁ,»wﬁ%maﬁ@mm
%aﬁﬁm“ﬁfﬁﬁﬁﬁﬁ_% |

Wﬁ%mﬁﬁse@;ﬁ,

As a olic
& police

officer, you get a panic call
om a b you g P

| manager about an armed

robbery in progress with hostages. As per

Standar operating procedures, which of

these should be your immediate response ?

) Rush to the crime scene directly

Without back-up

(B) Inform and coordinate with other
€mergency services

(OF Set-up perimeter checkpoints  to
isolate the area .

(D) Use social media to gather public

|130.

- information

‘ 2 e TEVR
FPR LN Cve PENPRTLA TP OV PERTENTAV R AN SN TSl RPN PEIE N O Pl (Yo PeTE o OV

18

129,

131.

o C NS PONZATYYR
N A U AW A TROVA AV PUns ~
q OULA TN SO WA RVA A
CONPITINTI VA FAN P

“SXIP‘S'X”%

%ﬁ“TEMPL T 3 £
certain code “CE

Sd I

| A“SXIFSX”, hOW e

written in that code ?

VGKNOV
C) VGKNVO
T iRy I feam
T 3R e @
ST 37R ga B
I 3R gear 2 3 4 ferft :
afeRT smifis fRrfd A et o
(A) 2 Tt (B) 11 fweft
(C) 13 foeft (D) 16 fodft

A person moves in north direction b

7 km, then turns left and moves by 4 km,
again turns left and moves by 9 km,
again turns left and moves by 4 km. I‘-?Iow
far the person is from initial position

(A) 2km (B) I1km

(C) 13km (D) 16km
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| &1 0 0 Ry e 8
w%lm,ﬁmﬁgﬁélm,@n% > T g
P e gy : %@W%ﬁﬂiﬁ@%ﬁﬁ%ﬁwm?
@& i ! An a?curate clock shows 9 o’clock in the

Morning Through how many degreeg
(B) ==y Will the hoyr
©) =m

(C) 1750 (D) 180°
I. Sheela ig Pramod’s sister,

: 135.ﬁwmﬁmawmﬁaﬂx=ﬁ%ﬁqm
rema’s daughter How is Rahul relateq mmmi

to Shubha 9 | : ) :

(A) Brother _ : Study the followin

(B) Cousin

g figure ang answer

- the question given below :

(C)  Maternal Uncle

: | . A Q‘* P am / Employed people
(D) Can’tbe determined ,
133. 3 w1 “LINGUIST" % TR, R i ﬂ%) O —*zi; / Backward peape
B3 3'{&1'@[ | Hﬁiﬁ H'Ui'qmﬁi'@m % ﬁg@wAﬁrg;a % /' Educated people
Wmaﬁmﬁé‘ﬂéa@ﬁm - TR ?

How many backwar

d people are not
T : i educated ? _
. .W%mm‘cﬁmmaﬁ o s b
e 3 e R A, o i e

ey o (©) 22 D) 12
?ﬁa}aﬁtwﬁ:éawm%tﬂa%ﬁam_ ©@ @)
(SIS ol sz 3 argam) # 7 136. Fieffes & 3 S W T T, et
If first, third and sixth letters of the wor.d ;Ef %+ 9 gey ! qEg =T TR
“LINGUIST” are change’d to  their- 29
immediately preceding letters as per

English alphabet series and fourth and Which of the following diagrams best

th letters are changed to their indicates the relation between Sea, Earth,
seven ,
immediately succeeding letters as per Sun ?

i i how many | | O
English alphabet series, then \
lettgers are there between the third ang (A) (B) O O
fifth letter of.the newly formed wor
%

= (according to English alphabet series) ?

- (D)
(A) 6 g ; e - © O @
(C) 8

w ~, PR DN PRV N T PA OO POOUEA TN (AN IR A T APSUTA TV AN R ATE YR
VA PSULAT ¢
». X " A AN A TIVY A A
N m‘ V& CON POVEN T YR 00 LA VA O LAY ¢ ¥
o T a OO PEOTENTH V' X
oS (7 5 R O =
¥ ’ T VK PENPEWL
‘ ANTY! PEILHNTOVL =
AN PRVEN CFVE P LXaty
=Y PN PIIL
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younge an R, R is younger th
then who among them is youngest ?
A) G (B) K
(C) R (D) A

139. @mﬁﬁﬁ%ﬂﬁ;ﬁa’aﬁ6aﬁ,

=T 4 At 3 S 18R 14 30f x| 3
Wﬁammt’nﬁf_ﬁwﬁ |

| 6mx1§mmaﬁawmwﬁ
%ﬁm%méﬁtmﬁtﬁmaﬁa’tm -
ahﬁﬁmﬁlmﬁ(ﬂﬁwaﬁﬂ

IR /) lémgmarréswmﬁ,
(4 &ft sy 1 3w @) 1 8t o 9y 4
TR famfa frr g

T o o & Rt A o g o |

A cuboid shaped wooden block has 6 ¢m
length, 4 cm breadth and | cm height.
Two faces measuring 4 cm x | c¢m are
coloured in black. Two faces measuring
6 cm x 1 cm are coloured in red. Two
faces measuring 6 cm x 4 cm are
coloured in green. The block is divided

.into 6 equal cubes of side | cm (from 6

~* cm side), 4 equal cubes of side 1 cm

(from 4 cm side). .
How many cubes will have green colour

.0n two sides and rest of the sides having

- no colour 7 2 ,
(A) 4 (B). 8
© 10 - D 12

- EER % s A
. HARAR |
¥4, 7 Rufodt w foem i gu, =

- A health-conscious individua
‘remember the hotline p |
“recently

consultation service. He re
following points: 3
' The phone number starts wj :

2. - The phone number ends wi
. 31.- The fourth digit is either 2, 4 o

C )
%I TET 98
HH FoR 652 T

‘established

and not repeated in the digit o;
numbers,

4.  The fifth digit is the product of the

_ last digit and the fourth digit.

Now, considering these conditions, the
individual has narrowed down four
potential phone numbers for the nutrition
consultation service. Find the suitable
one. .
(A) 98762652 (B) 98748652
(C) - 98724652 (D) 98764652

HPBULH TEVR oSN PRFTNTH P CONPRCLNTEVE Q0N PN ES T Fx CONPOVTNOCFR CON PATTHN TSV OONPISGLNIS P& CEAN POWIEA To'Y N iy POCLATRIFE QN PSTEN TIPS 608 PORENCOFR
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CON PRI C Ve 517N b

a

-

9w & T HUF ik 3w WG 191
it Q) e Ry & | S For
anﬁmﬁaﬂ?ﬁﬁwuﬂm%,ma’h
ﬁwﬁm@mmﬁm%ﬂﬁ“h
m%%mﬁamm/awﬁaﬁ
mﬁﬁsﬁaﬁ%ﬁﬁmm@
RO F/A /2 |
o ; AR IeT V& IEHTGET i =
¢ g%al & fas g T @ Fifod

T & AT & e 3RO R |
forsns
[ eneesr AW # faReE EIRIILS
o @ TRA TE Fan fo6 = s
B | .
Sefieadl % W % Wwe A
TR e 1 o HEd E |
Sraret Frsepd 1 STETT HTE |
et Fasepd 11 AT HT 2 |
(©) 13RS STETREAE |
(D) FAIARARII ATEW HATR | -
In the question below a statement followed
by two conclusions numbered I and II is
given. You have to assume everything in
the statement to be true, then consider the
two conclusions together and decide which
of them logically follows beyond a
reasonable doubt from the information
given in the statement. - :
Statement : The interview panel may
select a .candidate who neither
possesses the desired qualifications
nor the values and attributes.
Conclusions :

II.

(A)
(B)

I.  The inclusion of specialists on the
interview panel does not guarantee
that the selection will be proper.

II. The interview test has certain
limitations in the matter of
selection of candidates.

(A) Only conclusion I follows.

(B) Only conclusion II follows.

(C) BothIand Il follow.

(D) Neither I nor II follows.

143, @@ faeped T A fon oy

144.

145.

) 3

LAl

o A Hrh -,

Choose the altcr.na\'m': Which g closely
resembles the Mirror image of the giyen

combination.
FIXING

(A) GNIXIF
(©) AIXIAD

e o ot () H Reg MRS
(1), (2), (3 A (4) T & P H F
TS ST Hehel & |

Find out which of the figures (D, (2), 3)
and (4) can be formed from the pieces

given in figure (X).

AN\D

v
X) ¢))

@A) 1) ®) @

© 3 D) @

e Rt 3 & 7 T 6 Tl e

fiiger W1 W Wt W e Far fewr

am |

Find out from amongst the four
alternatives as to how the pattern would
appear when the transparent sheet is
folded at the dotted line.

OUIXIF
OUIXTA

(B)
(D)

A

“4)

@ G

=\
X)
A) @)

) 3) <)

B) @)
D) @)

P LA TIVVR SN SR TV PR AN R AT YR
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146. XM Y WE & |R, Yy Rar2 | T, s i

. (A) TITHTV

147.

- Which of the following option would be

148.

THAT TE1 8 3N S, X FIAMIR | T, R A
frT TR wEfa @ 7

(B) gt
(C) =& (D) wri§

X and Y are brothers. R is the father of
Y. T is only sister of S and S is maternal
uncle of X. How is T related to R ?

(A) Mothe;' ~(B) Wife

(C) Sister (D) Brother
frefofea & @ =7 @ fases 9 Ry Mo
Y31 T |12l 3hH B 7 .

L. . TR, i oo SeraTA

3. = 4. fEEr

5, WS |

meaningful order of the following words ?

1. Infant 2. 0Old |
3. Adult - 4 Adolescent
5. Child 30, ADE
(A)~75; 437217 (B) 347281, 5
(©F 175,48, 2% (D) 2;3,455]1
T8 TR o o s A R R |
Choose the figure which is different
from the rest. ' — :
D@ 6 @ ¢
- () ® @
© 6 ©) @

DH-1
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|150.

® | T TR T WA % R ey
e et @1 I fpar s 7 |

There are 8 members in a friends group
who greet each other on the Deepawalj
day by sending cards. How many
greeting cards will be used for this

purpose by this group ?

(A) 50
(B) 56 .
Erc
64 :
T ot 5 3, 4 AR 32 W S
- ofe % 12,900 sfear € | AR v @S 3d B
» eeh el & =R T S freran &, stk
mammmwnmm
forerar 2, o W 9@ =t fre e 7

A man divides ¥ 12,900 among 5 sons,

" 4 daughters and 2 nephews. If each

e : FANPSTEATIVR A
PENINENTI VA OH PITNTOTR DN PEWER TSV 00N PIULINTI PN AN PTATI A VS POREATEVR AN

~ daughter receives four times as much as

each nephew, and each son receives five
‘times as much as each nephew, how
much does each daughter receive ?

(A) %900

®) 71100

(C) %1200

(D) %1500
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